
1. 다음 중 a12 ÷ a2 ÷ a4 과 계산 결과가 같은 것은?

① a12 ÷ (a8 ÷ a4) ② (a4)3 ÷ a2 ÷ (a2)2

③
a12

a8
÷ a2 ④ a12 ÷ (a2 ÷ a4)

⑤ (a3)4 ÷ a5 ÷ a2

a12 ÷ a2 ÷ a4 = a12−2−4 = a6 이다.
① a12 ÷ (a8 ÷ a4) = a12 ÷ (a8−4) = a12 ÷ a4 = a8

② (a4)3 ÷ a2 ÷ (a2)2 = a12 ÷ a2 ÷ a4 = a12−2−4 = a6

③
a12

a8
÷ a2 = a12−8−2 = a2

④ a12 ÷ (a2 ÷ a4) = a12 ÷ (a2−4) = a12 ÷ a−2 = a12−(−2) = a14

⑤ (a3)4 ÷ a5 ÷ a2 = a12−5−2 = a5

해설



2. (5xa)b = 125x9 일 때, a + b 의 값은?

① 3 ② 4 ③ 5 ④ 6 ⑤ 7

5b = 125 = 53 , b = 3

xab = x9

ab = 9

a = 3

∴ a + b = 6

해설



3. 25 × 57 × 7 이 n자리의 자연수일 때, n 의 값은?

① 5 ② 7 ③ 8 ④ 10 ⑤ 12

2 × 5 = 10이므로
(2 × 5)5 × 52 × 7 = 175 × 105

∴ n = 8

해설



4. 44x+2 = 82x+4 일 때, x 의 값은?

① 2 ② 4 ③ 6 ④ 8 ⑤ 10

(22)4x+2 = (23)2x+4

28x+4 = 26x+12

8x + 4 = 6x + 12

∴ x = 4

해설



5. 다음 식을 간단히 하면?

(
3x2y

)2 × xy3 ÷
¶
(−x)2 y

©2
① −9xy4 ② 5x2y3 ③ 6xy2

④ 9xy3 ⑤ −5x2y3

(
3x2y

)2 × xy3 ÷
¶
(−x)2 y

©2
= 9x4y2 × xy3 × 1

x4y2
= 9xy3

해설


